H
S

o) =

g (22

& =

= 3

< S
© [$]

5

: i ! 8
s--rh - T ] 11 (R EREREEE T
E : | | | : e
e ‘ - - LA -ITT" g & " """"
0.5: : i i i :
=3 -2 -1 0 1 2 3
TP n (PCA to beamline)
—— §§ EF i%ﬁgg—éggdég vector—1660evt
—— BRVEIBeRE = 75231000840 iR 1006wt
=~ 1 = ]
IS : h IS :
(= e
> LR B R I Al R ¢ b ki B R SN
o S
=% o
107} 107}
01072 01072
E‘g 15 E‘g 15
1
1 . f o . . o a f .
3 =2 -1 o0 1 2 3 Rk R — 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

12 3
TP n (PCA to beamline)




	Contents
	Page 1


